
https://www.pass2lead.com/501-01.html
2024 Latest pass2lead 501-01 PDF and VCE dumps Download

 

 

 

501-01Q&As

Riverbed Certified Solutions Associate – Hyper-converged Branch

Pass Riverbed 501-01 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/501-01.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Riverbed
Official Exam Center

 

 

501-01 PDF Dumps | 501-01 Practice Test | 501-01 Braindumps                                1 / 3

https://www.pass2lead.com/501-01.html
https://www.pass2lead.com/501-01.html
https://www.pass2lead.com/501-01.html


https://www.pass2lead.com/501-01.html
2024 Latest pass2lead 501-01 PDF and VCE dumps Download

QUESTION 1

Which mechanisms can cause Whitewater appliance replication to pause or effect the optimization service? (Select 4) 

A. Cloud provider outage. 

B. Backup application crash. 

C. WAN outage. 

D. Whitewater bandwidth settings. 

E. Incorrect cloud provider credentials. 

Correct Answer: ACDE 

 

QUESTION 2

If a Virtual Whitewater appliance datastore disk is undersized relative to the cloud license applied, what happens? 

A. The Virtual Whitewater appliance system fails to boot. 

B. The Virtual Whitewater appliance system boots, but the optimization service does not start. 

C. The Virtual Whitewater appliance system boots, but triggers a critical alarm. 

D. The Virtual Whitewater appliance system boots, but triggers a degraded alarm. 

E. The Virtual Whitewater appliance system deletes the offending cloud license. 

Correct Answer: D 

 

QUESTION 3

A customer is looking to deploy Steelhead EX 1160-L\\'s to 10 branches. Each branch is to have a file server with 2TB
of storage. What data set size does the Granite Core appliance need to be capable of handling, assuming standard
Granite Edge appliance blockstore sizing recommendations? (Each 1160 has been configured with 275 GB/275 GB
VSP/Blockstore setting) 

A. 20 TB 

B. 10 TB 

C. 4 TB 

D. 2.75 TB 

E. 2 TB 

Correct Answer: D 
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QUESTION 4

If a user is considering having backup data sent to Amazon Glacier, select which recommendations should be reviewed
to ensure Whitewater appliance is appropriately designed for the environment? (Select 2) 

A. Whitewater appliances should be sized larger to reduce the amount of potential access activity from Amazon
Glacier. 

B. Whitewater appliances should only deduplicate against local cache storage and not against local and Amazon
Glacier storage. 

C. Whitewater appliances should only accept archive data if using Amazon Glacier storage. 

Correct Answer: AB 

 

QUESTION 5

Which Granite appliance components support high availability? 

A. Granite Core 

B. Granite Edge 

C. Neither Granite Core or Granite Edge 

D. Both Granite Core and Granite Edge 

Correct Answer: D 
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